e 7] F AFDL vEA) 73 A BT nEm?

@ 36 o] 59 AEZ - -6
© 59 AFT > V5
© (-3)? g AHEE -3
® V16 o AlFZ

a0 2606 006 ®06e 666

© (-3)* JAET - 9 o AET - =3
® V16 o AFT - 4 9 AlFZ > =2




¢ ] glo] That o] Fol A W, axbxc o G HEA T
?

L 8
flo &

a— AlE 36
b — 3 9] %ol AlEL

c = /(=37 9 & A

@—18 @ 18 ® -18+v3
@ 18v3 ® 108

B

a= (AEL36) = V36=6
b—<34°u AE) =

(V32 22 ABD) = (3 9 &9 AFL) = - V3
abec—6>< V3 x (-V3) =

é.




thS 104 AEFH ¢] Yol71 8 & ul, AH

9

@ 8 @) V8 ® V2
@ V3 ® 5




@® 36 @ 49 @—1 @ 225 @50

® AFAA -1 o] He AdpE EASHA Gonz -1 2
A7t ot o,
® AZ3A 50 0] El= AASE ZA5tA] ko B 50 & AF

%7} ohu e,




R S |
) <§—’] 7‘1]1:1%) = i—2

N |
@ (A AE2) =5
® (15 9] AlFL)= £ V1.5
@ (155 = AJF57F ot B2 155 o] AlFE)= + V155
® (66 & AFS7F oY ER 66 2] Al FETE) = + V66
webA 2S5 ARSSHA] S UERd 4 QlE A2 @0

D




H7]

=-0.3

0.09

O -

+4

16

Q
©

(=5)?

@_

(—13)% = 13

va0 2066 006 @Doe 66e




@ VT = —a
® /(-a)2=a
@ -a? <0 0122 V-a2 9] L2 gt}




© V36 +(-VI2) =15 @ V-
® /(-10)2 - V49 = -17 @ +0.04+ V0.12 =02

O [3)-

@ V36 +(-V12)2 =6+12 =18
@ V52— \/(-3)2=5-3=
® /(-10)2- V49=10-7=3
@02+0.1=




9.

Vi21 - /(-6)? & Al4tstoet,

@ 1 @ 3 @5

@ 7

| 11-6=5




10. o5 Ao At F Bk=2] 2ot A2

D V52 x (—§>2=3 @M+ V10000 = 200
® VI + (VI3) =6 @ VIP- /(02 =1

® (=30 - VI00 = 0

@ +0.04 + V10000 = 0.002




11, VBT - Vo9 + /(097 - /& & At

@305 @315 ©® 32 @3.35 ©® 345

1
(FA)=3-03+09- 7 =335




12. a<09 o, Va2 - \/(—2a)? & 7teHs] spd?

@O @ —6a ® 6a @ —4a ® 4a

Vid? - \/(=2a)% = \/(20)? - /(-2a)?
—2a — (—2a)
—2a+2a=0




13. a<0,b>0 % ], - Vb2 - Va2 & 7heH3] 517?

D b-a (@)a—b ® -a-b

@ a+b G —a? + b2




14.

VEGx 7h AHA%7L 517] 918 A 29 4

2> 9
'T'E

® 2 @ 4 ®7 @®)14 ® 28
56x = 23 x 7x x OB & 7} ZHe A4 v = 14




o
2
ro
>
rr

2

15. /0 sk Aast 57 g x 9l % 571

® 3 @ 6 ®7 ®)21 ® 42

2 3
756 = 22 x 33 x 7 o|B 2 1/ 2 X3 XT o) Reizst v gt
X
AAa T 7P A2 A x=3x7=210°[th




®\/g<\/g @ 3<2v2

@1<\/§ ® 6 < V3

® 3v2>2+5

1 1
@ \/;> \/;
@ 3>2+2
®3v2<2v5

® 6> V35




17.

@ -V3>-v2 O -2v2>-V12
© Vil>2+3

ve e 0060 @Doe 006

~&B

@2<3°]8B2 V2< 3

whebA] -2 > - V3 o[t}

O©-2V2 > -V12 (O)

© ViI2=11<12=(2V3)2 °]E&2 V11 <2V3




18. \/(2-v2) - /(1- v2)" & ehe) o

D1 @ -1 ®3_2\/§
@ -3+2V2 ® 1-2v3

B

1<V2<20E22-12>0,1-V2<0
2= v2|-[1- v2| =2- V2+1-v2
=3-2V2




3>2420|B&2
i-2v8]-[o 24
=3-2V242v2-3=0




@ 1274 @ 1374 3 1474 @)157H ® 167H

B

1< x<4

12< (Vx)’ <42 0lBg

1<x<16

x =1 3H 15 742 9] AAS2 1570]},




21. 41< Vx<5.6 8 TESE A4 x o g FAM MY 2 S5,
NEAEFEbRL T W, a+b O FOE AL HLY

® 42 @ 45 @48 @ 51 ® 54

B ,

4.1 = V16.81, 5.6 = V31.36 0|22
16.81 < x < 31.36

a=31,b=17
a+b=17+31=48




@ 36 o] A& 6 oJth.
® -16 o] AlFTLL -4 ot}
@)4 ° 5o AlELE -2 ot
® /(-4)% o & AlFLE 4 o]t

@ 36 o] AlET2 +6
@ 259 AFE2 ot

® /(-4)2 =4 9] F AFZL2 2 o]t




23. U= RS &AL BT A2

@ 3 9 o] AFTS V=3 otk
© V25 &5t

© AFT 1624 o[},

® (-3)% o AlET2 3 ol

© x*=a °|H x = a |t}

® 6,0 @o. ® 0 ©
® 0@ ® 066
3 $9 ATLE V3

® (-3)2 =9 S AFZL +3
@x>=a(a>0)°¥H, x=++a




24. the 3 AFLL e O, 255 Agstol ehfob she 42
BT TEH?

: 98
@5 @ 169 ® 3.9 ® — ®)o4

~&B

D(V36 o] AlE)= 6 2 AlF
@ 169 = 132 o|2.2 169 o] AF

®39=2 _yolmz 50 g AZTL 22

O%

+— £
o
<= +13

+7

rlo

@%:49 019_;%94111—3—:&
®0.4 9 ABELE + V0




S 5 BIEA] 238 AR85he] Letfoltt sk 2129
@O +0.49 @ V121 ® Vi
1
@ 6 ®) Vo4
@D V049 = V0.72 = 0.7
@ V121 = V112 = 11
®Vi=+ViZ=1
1 1\% 1
@ \/% - (3) =3
® 0.4 = AFS7FolUER V0.4 = HIEA] 235 AHE-51Y




26.

R
@ Va?=a © (-a)?=-a
© -Va2=a @ —+/(-a)?’=-a

pa.0 066 Goe ®©oce 66e

@a<0Q ), Va2 =—qgolth
@a<0¥9 M, —(-a) =a°|th




D Vi6=4 @ +0.16 =04
121 11

O -Ver= % @ (-0.1)2 = -0.1
52 1

©- (%) =3

@ /(=012 =0.1




ol
L

2
3

)

[2\B K]

Nellj=n

_u__l <o ™

H

©@ ©




2 50 e Ga o, A A ok 5

\/_
o} @V of oFf

L_

1_

\2
©

D, @, 0, @ BBst gong Bael 272
Gk @t} 23 @urt At
b 2 +5H }4dstE 6, 6, @, @, @°|t

Hl




30. Tha3<x<s 4, 74 &2 ALY

D V2<x @ V3<x
@ x <42 ® x<5V3

@x<2\/§

2V2 <3 < x O|EE @2 &7 ot




31. % H542< Vr-3<34< V2r<5 9 IS BT DI H4
© 9 e BT Folul?

@2 @3 ® 32 @ 34 ® 36

B ~
2<vVx-3<3

4<x-3<9

T<x<12

x=28, 9, 10,11

4<V2x<5b

16 < 2x < 25

8<x<12.5

x=9,10,11,12

T B5A4E TAlo 9tEsh= x g2 9,10, 11
L 9+10+11=30




a+/(-a)? 9] ¥ AFLE m, —V0.0144 5 nolat T uf, mx 100n
4 H2? (Ha>0)

D)-12a @ 12a 3 124>

@ -12a° ® -120a*

B ~
a\/(ma)2 =ax Va® =axa=a?°|BZ, a\/(-a)? 9] %]
AT aolt . m=a

-+/0.0144 = - \/OT——OH—n

. mx 100n = a x 100 x (=0.12) = —12a




T 1 64 8
@ @252 @ -Vor=1n
® V4 =3 @«/0.0 — 0.0001
® —V49 = -7

v0.01 =0.1




34. {xl300<x<600 xE A5} o tiske] V3x vx 7F o] a7t H =

= St= A5 x o HFE FohH?
D)5 7 @ 5274 ® 10074
@ 10174 ® 301 74

VEx yE = V3x 7 0] A% 1), 3y £ AEL7} Holof sl
o ), x = 3k3(k £ 24A%) o]},
300 < 3k% < 600 & 100 < k2 < 200
k2 =102, 112, 122, 132, 142
x 0] A4 5 7




35. & F V28x 7 AT HA ok x o] o2 23] e AL

rlo

@72 ® 28 @ 63 ® ‘_;

V28x = V22 x 7T x x
@ V22 x 73 = 2x 7 x VT = 147 ©] Ho] ZtA57} 52| H35t
c}.




